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Exemplar for internal assessment resource Accounting for Achievement Standard 91405

Grade Boundary: Low Excellence

1. For Excellence, the student needs to demonstrate comprehensive understanding of
accounting for partnerships.

This involves justifying the application of partnership accounting elements to enable
the partnership to continue operations.

This student has correctly prepared formation entries and the profit distribution
statement for Mighty Mini Golf (1). Ledger entries are mainly correct, with closing
balances accurately transferred to the statement of financial position note (2). The
processing shows a comprehensive understanding of accounting for partnerships.

Some profit sharing clauses have been justified (3). Reference has been made as to
how clauses contribute to future operations of the entity (4).

For a more secure Excellence, the student could correct the error in Sam’s current
account and complete the equity extract of the statement of financial position.

Partnership elements could be justified with further elaboration. For example, the
student could explain why partners’ capital investments are good for the business, or
what the consequences would be of partners withdrawing lump sums from their
capital accounts. The student could justify the profit sharing ratio of 3:2 in terms of
each partner’s contribution to the entity.
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Exemplar for internal assessment resource Accounting for Achievement Standard 91405

Student 1: Low Excellence

Intended for teacher use only

The following aspects of evidence have been omitted from this exemplar:
¢ formation entries for both partners
e profit distribution statement

e capital account for Sam

e capital and current accounts for Alex

Current: Sam
Date Dr Cr Bal Dr/Cr
1/1/14 Balance 9,000 | Dr
31/12/14 | Salary 8,000 | 1,000 | Dr
Interest on capital 4,000 | 3,000 Cr
Interest on drawings 1800 1200 Cr
Interest on current 360 840 Cr
Profit distribution 36,360 | 37,200 Cr
Drawings 3,800 33,400 Cr
Mighty Mini Golf
Statement of Financial Position (extract) as at 31 December 2014
Equity 4
Capital contribution
Notes to the Statement of Financial Position
4  Equity
Capital | Current Total
Alex 50,000 | 15,300 65,300
Sam 90,000 | 33,400 | 123,400
$140,000 | $48,700 | $188,700
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Exemplar for internal assessment resource Accounting for Achievement Standard 91405

Goodwill represents the future economic benefits from those assets with no physical presence,
e.g. customer base, location and quality of service. The goodwill from Sam’s existing business
will be immediately profitable for Mighty Mini Golf as the existing customers are likely to
support the new entity, bringing in sales revenue from the start.

In the absence of a partnership agreement, profits would be equally distributed between Sam
and Alex in accordance with the Partnership Act 1908. This Act does not allow any other profit
distributions like interest on capital, interest on drawings and interest on current accounts. The
3:2 profit share ratio in their partnership agreement is fairer than sharing profits equally.

Mighty Mini Golf needs to keep sufficient money in its bank account to be able to pay expenses
and debts as they fall due. If partners’ drawings are really high the bank balance might fall so
low that an overdraft has to be taken out. The interest on the overdraft would decrease MMG'’s
profit. So that this doesn’t happen, Sam and Alex are charged 10% interest on drawings over
$20,000 to discourage them from taking out excessive drawings.

Sam and Alex earn 5% per annum on the balance of their capital accounts. This encourages them
to keep lump sum investments in the partnership which is good for the business. It is also good
for the partners as they are getting rewarded with an interest rate that is about the same as they
would earn from a bank.

Sam and Alex earn 4% interest on credit current account balances, to encourage them to keep
their funds in the business. If they have negative (debit) current account balances they are
charged 4% interest as negative balances usually mean they have taken more drawings than
they have earned in profit share. Cash drawings would decrease the bank balance which can
affect the ability to pay expenses and could jeopardise the ongoing viability of the partnership.
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Exemplar for internal assessment resource Accounting for Achievement Standard 91405

Grade Boundary: High Merit

2. For Merit, the student needs to demonstrate in-depth understanding of accounting
for partnerships.

This involves explaining the application of partnership accounting elements to
enable the partnership to continue operations.

This student has processed transactions for Mighty Mini Golf at an in-depth level.
‘Follow through’ has been employed in appropriately transferring figures to the profit
distribution statement, partners’ current accounts and the statement of financial
position (1).

Partnership elements have been explained (2), and the student has recognised the
link between partnership agreement clauses and the ongoing viability of the entity

A).

To reach Excellence, the student could accurately complete the profit distribution
statement. Justifications of elements would be provided. For example, the student
could explain why it is appropriate that Sam gets a higher profit share and why
Alex’s salary is higher.
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Exemplar for internal assessment resource Accounting for Achievement Standard 91405

Student 2: High Merit

Intended for teacher use only

The following aspects of evidence have been omitted from this exemplar:
e capital and current accounts for Alex and Sam
e statement of financial position extract and note

Mighty Mini Golf
General Journal
Date Dr Cr
1/1/14 | Bank 900
Accounts receivable 5,100
Land 100,000
Buildings 70,000
Mini-golf equipment 2,500
Goodwill 5,050
Allowance for doubtful debts 50
Accounts payable 3,500
Mortgage 100,000
Capital - Sam 80,000
(to record Sam’s contribution)
Bank 40,000
Capital - Alex 40,000
(to record Alex’s contribution)

Mighty Mini Golf
Profit Distribution Statement for the year ended 31/12/14
Net Profit 82,500
Add: Interest on drawings - Sam 3,000
Interest on drawings - Alex 1,500 4,500
87,000
Less: Distributions:
Salary - Sam 8,000
Salary - Alex 10,000 18,000
Interest on current - Sam (360)
Interest on current — Alex 560 200
Interest on capital - Sam 2,000
Interest on capital - Alex 4,000 6,000 | 24,200
62,800
Profit share - Sam 37,680
Profit share - Alex 25,120 | 62,800
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Exemplar for internal assessment resource Accounting for Achievement Standard 91405

Sections of the student’s narrative response have been omitted from this Exemplar.

Goodwill represents the future economic benefits from assets like the business’s location, good
service and customer data base. These don’t have a physical presence but they represent income
and profit for a business.

If there isn’t a partnership agreement partners have to follow the Partnership Act which says
that profits have to be shared equally. The Act does not allow any other profit distributions such
as interest on drawings, interest on current accounts and interest on capital accounts. According
to their partnership agreement Sam gets 60% of residual profit and Alex gets 40%.

Interest on drawings is charged to discourage Sam and Alex from taking high drawings. They are @
charged interest on any drawings above $20,000 so that they don’t withdraw so much cash from
Mighty Mini Golf that the business might not be able to pay its bills when they fall due. @

Interest on capital is paid to the partners so that they will keep their capital amounts in the
business instead of in a bank account. Without Sam and Alex’s capital the business could fall @

short of money and may have to take out a bank loan or even stop operating.

Alex’s salary is $10,000 p.a. and Sam’s is $8,000. The partners must have agreed on the salaries @
so there must be a good reason for the difference.
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Exemplar for internal assessment resource Accounting for Achievement Standard 91405

Grade Boundary: Low Merit

3. For Merit, the student needs to demonstrate in-depth understanding of accounting
for partnerships.

This involves explaining the application of partnership accounting elements to
enable the partnership to continue operations.

This student has demonstrated, for Mighty Mini Golf, an in-depth understanding of
formation entries, partners’ capital and current accounts, profit distribution statement
and the statement of financial position extract and note (1). ‘Follow through’ has
been employed in assessing processing.

The student’s explanations of some of Mighty Mini Golf's partnership elements show
an in-depth understanding of their purpose (2) and how they can assist the
partnership to continue operations (3).

For a more secure Merit, the student could explain interest on capital accounts as
capital investments have a significant impact on the viability of a partnership, use

closing current account balances in the equity section of the statement of financial
position.
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Exemplar for internal assessment resource Accounting for Achievement Standard 91405

Student 3: Low Merit

Intended for teacher use only

The following aspects of evidence have been omitted from this exemplar:

e formation entries

e profit distribution statement

Mighty Mini golf
General Ledger
Capital - Sam
1/1/14 Balance 80,000 | Cr
31/12/14 | Bank 10,000 | 90,000 | Cr
Current - Sam
1/1/14 Balance 6,000 | Cr
31/12/14 | Partner’s salary 8,000 | 17,000 | Cr
Interest on capital 4,000 | 21,000 | Cr
Interest on current 360 | 21,360 | Cr
Interest on drawings 1,800 19,560 | Cr
Profit share 36,120 | 55,680 | Cr
Drawings 38,000 17,680 | Cr
Capital - Alex
1/1/14 Balance 40,000 | Cr
1/7/14 Current - Alex 10,000 | 50,000 | Cr
Current - Alex
1/1/14 Balance 6,000 | Cr
1/7/14 Capital - Alex 10,000 4,000 | Dr
31/12/14 | Partner’s salary 10,000 | 6,000 | Cr
Interest on capital 2,000 | 8,000 | Cr
Interest on current 240 8,240 | Cr
Interest on drawings 500 7,740 | Cr
Profit share 24,080 | 31,820 | Cr
Drawings 25,000 6,820 | Cr
Mighty Mini Golf
Statement of Financial Position (extract)
as at 31 December 2014
Equity 4
Contributed capital 140,000
Plus Current 5,000
Capital $145,000
Notes to the Statement of Financial Position
4  Equity
Capital | Current | Total
Partner - Alex 50,000 | (4,000) | 46,000
Partner - Sam 90,000 9,000 | 99,000
Total 140,000 5,000 | 145,000
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Exemplar for internal assessment resource Accounting for Achievement Standard 91405

Sections of the student’s narrative response have been omitted from this Exemplar.

Goodwill represents Sam and Alex’s assets with no physical presence, e.g. customer base, quality
of service, which is immediately profitable for the partnership, Mighty Mini Golf.

Profits would have been distributed equally between Sam and Alex if the partnership agreement
was not drafted at the time of formation. This is in accordance with the Partnership Act 1908.
The Act does not allow profit distribution, e.g. interest on drawings, interest on capital etc.

10% interest on drawings is charged when drawings are above $20,000. This discourages the
partners Alex and Sam from taking out cash from the partnership Mighty Mini Golf. This allows
the business to retain cash to ensure debts and expenses can be paid.

The partners are also charged interest if their current accounts have debit or negative balances.
This discourages Sam and Alex from letting this happen. As with interest on drawings, the idea is
to ensure there is enough cash in the MMG'’s bank account for when expenses and liabilities have
to be paid because if they can’t be paid the business will get into financial difficulty and might
need to close.

Sam will receive a greater share of the profit than Alex (three-fifths compared with two-fifths).
This is because he contributed more capital than Alex so it is only fair.
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Exemplar for internal assessment resource Accounting for Achievement Standard 91405

Grade Boundary: High Achieved

4. For Achieved, the student needs to demonstrate understanding of accounting for
partnerships.

This involves applying partnership accounting elements to enable the partnership to
continue operations.

This student has correctly processed formation entries, capital accounts and the
statement of financial position and note (1). Partnership elements have been applied
to Mighty Mini Golf (2). There is some recognition of how agreement clauses
contribute to the partnership’s ability to continue operations (3).

To reach Merit, the student could demonstrate greater understanding of current
accounts and the profit distribution statement by processing transactions with
greater accuracy. Explanations of partnership agreement clauses could be more
detailed.
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Exemplar for internal assessment resource Accounting for Achievement Standard 91405

Student 4: High Achieved

Intended for teacher use only

The following aspects of evidence have been omitted from this exemplar:

e formation entries

e statement of financial position extract and note

Mighty Mini Golf
General Ledger

Date | Dr | Cr | Bal |

Capital - Sam

1/1/13 Balance 80,000 | Cr

31/12/15 | Bank 10,000 | 90,000 | Cr

Current - Sam

31/12/13 | Balance 9,000 | Dr
Salary 8,000 1,000 | Dr
Interest on Capital 4,000 3,000 | Cr
Interest on Current 360 2,640 | Cr
Interest on Drawings 3,800 (1,160) | Cr
Profit Share 39,000 | 37,840 | Cr
Drawings 38,000 (160) | Dr

Capital - Alex

1/1/13 Balance 40,000 | Cr

1/7/13 Current - Alex 10,000 | 50,000 | Cr

Current - Alex

31/12/13 | Balance 4,000 | Cr
Salary 10,000 | 14,000 | Cr
Interest on Capital 2,000 | 16,000 | Cr
Interest on Current 160 | 16,160 | Cr
Interest on Drawings 2,500 13,660 | Cr
Profit Share 260,000 | 39,660 | Cr
Drawings 25,000 14,660 | Cr
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Exemplar for internal assessment resource Accounting for Achievement Standard 91405

Mighty Mini Golf
Profit Distribution Statement for the year ended 31/12/12
Net Profit 82,500
Add: Interest on drawings - Sam 3,800
Interest on drawings - Alex 2,500 6,300
88,880
Less: Distributions:
Salary - Sam 8,000
Salary - Alex 10,000 | 18,000
Interest on current — Sam (360)
Interest on current - Alex 160 (200)
Interest on capital - Sam 4,000
Interest on capital - Alex 2,000 6,000 | 23,800
65,000
Profit share - Sam 39,000
Profit share - Alex 26,000 | 65,000

Sections of the student’s narrative response have been omitted from this Exemplar.

Goodwill represents future inflow of economic benefit from those goods with no physical

presence, e.g. customer base, location, quality of service which will bring in profit to Mighty Mini @
Golf. Some of the customers from Sam'’s old mini-golf business will probably keep going to the

new business.

If there was no Partnership Agreement at the time of formation the profits would have been
distributed equally to follow the New Zealand Partnership Act 1908 even if one partner worked

longer and deserved a higher salary.

Sam and Alex are charged interest on drawings in excess of $20,000 to put them off taking too @
much drawings out of Mighty Mini Golf to ensure financial stability (liquidity).

Sam and Alex can earn 5% interest on the balances of their capital accounts. This rewards them @
for keeping their capital invested in the business.

Sam gets a lower salary than Alex, although Sam'’s share of the profit is higher so it is probably
fair.
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Exemplar for internal assessment resource Accounting for Achievement Standard 91405

Grade Boundary: Low Achieved

5. For Achieved, the student needs to demonstrate understanding of accounting for
partnerships.

This involves applying partnership accounting elements to enable the partnership to
continue operations.

This student has accurately processed the partners’ capital accounts and the profit
distribution statement is mostly correct (1). Some understanding of the purpose of
Mighty Mini Golf’s partnership clauses has been demonstrated (2).

For a more secure Achieved, Alex’s formation entry would be recorded, allowance
for doubtful debts calculated, and the statement of financial position extract and note
would be completed.

Partnership elements would be more closely applied to Mighty Mini Golf.
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Exemplar for internal assessment resource Accounting for Achievement Standard 91405

Student 5: Low Achieved

Intended for teacher use only

The following aspects of evidence have been omitted from this exemplar:
e capital and current accounts for Alex
e profit distribution statement

e statement of financial position extract and note

Mighty Mini Golf
General Journal
1/1/12 | Bank 900
Accounts Receivable 5,100
Buildings 70,000
Land 100,000
Mini-golf Equipment 12,000
Goodwill 5,000
Accounts Payable 3,500
Mortgage 100,000
Capital - Sam 80,000
(to record Sam’s contribution)
(to record Alex’s contribution)
Date | | Dr | Cr | Bal |
Current - Sam
31/12/13 | Balance 9,000 | Dr
Partner’s Salary 8,000 1,000 | Dr
Interest on Capital 4,500 3,500 | Cr
Interest on Current 360 3,140 | Cr
Interest on Drawings 1,800 1,340 | Cr
Profit Distribution 36,060 | 34,720 | Cr
Drawings 38,000 (3,280) | Dr
Current - Alex
31/12/13 | Balance 4,000 | Cr
Partner’s Salary 10,000 6,000 | Dr
Interest on Capital 2,000 4,000 | Dr
Interest on current 560 3,440 | Dr
Interest on Drawings 500 3,940 | Dr
Profit Distribution 24,040 | 20,100 | Cr
Drawings 25,000 (4,900) | Dr
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Exemplar for internal assessment resource Accounting for Achievement Standard 91405

Sections of the student’s narrative response have been omitted from this Exemplar.

Goodwill represents the future economic benefits of assets of Mighty Mini Golf with no physical
presence.

In the absence of a Partnership Agreement, profits are to be shared equally among the partners,
according to the Partnership Act 1908.

The reason why there is a clause that charges partners if their drawings exceed $20,000 is to
discourage them from withdrawing or spending too much money from the business. This means
the business will have sufficient funds to carry on.

Interest on capital accounts is earned at 5% p.a. on opening balances. This encourages the

partners to keep their capital in the business. If they took their money out and put it in a bank
account they could earn about the same interest percentage.
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Exemplar for internal assessment resource Accounting for Achievement Standard 91405

Grade Boundary: High Not Achieved

6. For Achieved, the student needs to demonstrate understanding of accounting for
partnerships.

This involves applying partnership accounting elements to enable the partnership to
continue operations.

This student has accurately processed formation entries and capital accounts (1).
Some generic understanding of partnership elements has been demonstrated (2),
with minimal application to Mighty Mini Golf (3).

To reach Achieved, the student could accurately process more profit-sharing
transactions in current accounts, enter salaries in the profit distribution statement
and complete the statement of financial position extract and note.

Partnership elements could be applied in context and linked to the ongoing
operations of the entity.

© NZQA 2015




Exemplar for internal assessment resource Accounting for Achievement Standard 91405

Student 6: High Not Achieved

Intended for teacher use only

The following aspects of evidence have been omitted from this exemplar:

o formation entries
e capital accounts for Alex
e profit distribution statement

Current - Sam
1/1/13 Balance 9,000 | Dr
31/12/15 | Interest on Capital 4,000 | 5,000 | Dr
Interest on Drawings 1,800 6,300 | Dr
Current - Alex
1/1/13 Balance 14,000 | Cr
Capital - Alex 10,000 4,000 | Cr
Interest on Capital 2,000 6,000 | Cr
Interest on Drawings 500 5,500 | Cr
Mighty Mini Golf
Profit Distribution Statement for the year ended 31/12/13
Net Profit 82,500
Add: Interest on drawings - Sam 1,800
Interest on drawings - Alex 500 2,300
84,800
Less: Distributions:
Interest on Capital - Sam 4,000
Interest on Capital - Alex 2,000 6,000
Interest on Current - Sam (360)
Interest on Current — Alex 560 200
Drawings - Sam 38,000
Drawings - Alex 25,000 | 63,000 | 69,200
15,600
Profit share - Sam 9,360
Profit share - Alex 6,240 | 15,600
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Exemplar for internal assessment resource Accounting for Achievement Standard 91405

Sections of the student’s narrative response have been omitted from this Exemplar.

Goodwill represents the assets in the partners’ firm that have no physical presence, things like
the good reputation of the business that will mean customers keep coming to buy from it.

If a Partnership Agreement has not been established, then the profit share in the partnership
should be shared equally between partners, due to the Partnership Act 1908.

The partners agree on what their salaries will be. There is a difference in what they will be paid @
and this could be to do with different work the partners do or their different qualifications. They
also agree on their percentage profit share and this might also be different for the partners.

The clause that charges interest on partners’ drawings over $20,000 is to discourage Sam and @
Alex from taking too much money out of the partnership’s bank account.
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